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Atriple of numbers (a,b,c) is called a Pythagorean triple if a * a + b * b = c * c.

ln this question, you will be given three numbers. You have to output 1 if the three irumbers
Otherwise, you have to output 0.

not be given in order: yeu may have to try all possible orderings of
determine whether they form a Pythagorean triple.

with an example code to print Fibonacci sei-ies up to 10 terms.
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Pa.

2.

a.

Altempt onv three of the foltowing:
i) Name the following code and exp nlai het same

def recurse0:

recurse0

ii) def countdown(n):

ifn<=0:
print ('Blastoff!')

else:

print( n)

countdown(n-1)

What will happen if we call this fu
>>> countdr:wn(3)

iii) Fermat's Last Theorem says

= cn for any values of n

:l'}

',..?

Write a function named
checks to see if Fermat,

that an +bn = cn the
the program sho

Write a function
integers, and

b Wrrite a Python program to I

that
o be true

Otherwise

converts them to
's theorem.

an input number

n
ist allthe factorial num bers less than or equal ton.

A number N is called a factorial number if it is the factorial of a positive integer. For exarnple,the first few factorial numbers are
1_,2, 6,24, !2O, ...

Note: We do not list the factorial of 0.
lnput: A positive integer, say n.
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All factorial numbers less than or to n.
.rl;-,;.:-. ..'

Write the output for the following if the variable fruit = 'banana' :
>>> fruit[:3]
>>> fruit[3:]
>>> fruit[3:3]
>>> fruit[:J

ii) What is the reason for the error seen here? : l

>>> greeting = 'Hello, worldl,
>>> greeting[O] = 'J'

TypeError: 'str' object does not support item assignment
any 2 methods under strings in Python with suitpble examples.

string2) that does the following:

i'i
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Explain

'oranges')
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iii) >>> t = divmod(7, 3)
>>> print( t)

iv) >>> s 'abc'

>>>t-10,L,21
>>> zip(s, t)

v) for inclex, e

print(

4.
a. 15

nippets

l0lords a-leaping,)

cccttt')

ctttt cccttt')

largest Anaiytics community of lndia,)

on with an example

implemented in python?

n are used to determine the type of instance and inheritance?

magic nrethods of python that are used in the initialization and deletionthe help of a code snippet.
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dictionary?ii) Write a python code to get the following dictionary as
{1: L, 3: 9, 5: 25, 7 : 49, 9: g7}

iii) What is the output of the code given below:
>>> squares = {L:L, Z:4,3:9,4:L6,5:25}
>>> print(squares[5])

>>> print(squares[6])

List and explain any five exceptions in python.

Given a dictionary d and a key k, it is easy
operation is called a lookup.
But what lf you have v and you want to
by writing a python code.

Q. P.

Explain the following statements:
i) >>> a, b = 1,,2,3
ii) >>> addr =

,r
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NamethemethodsinPythonMrrltithreadedProgramming.
necessary for each of the method.

i) A method to spawn another thread

ii) A method to return the number ofthread objects that

iii) A method that waits for threads tr: terminate

iv) A method that returns the name of the thread

v) A method that checks whether a thread is still

List and explain the methods used under

Create a module armprime that has two

is an Armstrong number and the other to

lmport the above created module in a 'py

anv three of the following:AttemPt
Write a PYthon code to create the

Q. P.
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